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PART 1. %|x 52& & Z&95}x}

<First 5-minute planning stage>

Ot HEf| XtE(A2H=)7} LIt HIEUHE2 IS
Ot HE{S| XIE(A2H=)7} LiRtE ofLt.

STEP 1. él“é"(ldentify)
. Time (A|Zt2] B20| Q= DATAQIX|?)
i.  Figure (XAfe| ZRE= 2OIQIX|?)

STEP 2. d=(Sort)
I Change (Bi3}E 7|=9 2 Trend I}Q}) - /72 &M
=

i, Compare (HH1E 7|22 Trend Li9}) - =X0|E

STEP 3. 2 & (Categorize) & H7|(Group)
I Similarity (A}

ii. Contrast (C=x)

STEP 4. 1= (Structure) - CH THE 7|
I Organize (#tx2}) MMAHHQ S
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70 1 In Toronto, landfill was the first in terms of waste disposal at
R &0 about 75%, and incineration was the second with 10%.
@
E Recycling and composting were the third and fourth at around
% 20 8% and 7% respectively.
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(PRACTICE 3) 981 XIE

South America

Industrial Use

B Aqricultural Use
- Domestic Use
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The figure for Nokia dropped from about 450million dollars in
2009 to 430million dollars in 2011. Besides, it decreased much

more to 250million dollars in 2013.
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In South America, agricultural use was the first with 71%, and
domestic use made up 19%. However, Industrial use was the
third at only 10%
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(PRACTICE 4) 12'H XIE

Number of | Number of deor 24 (Chinag &4 2 M)
Country |tourists, 2012 |tourists, 2013
(millions) (millions) The number of tourists in China decreased
from 57.7million to 55.7million over the years.
France B3.0 847
USA 66.7 69.8 e
Spain 57.5 60.7
China 57.7 55.7
Italy 46.4 47.7

(PRACTICE 5) 15®H XIE

Worldwide Mobile Phone Sales in 2005 & 2006 (% share of market) Myt 2
Compan 2005 % Market Share | 2006 % Market Share . .
. - Nokia accounted for the biggest
Nokia 325 35
Motorola 17.7 21.1 percentage with 35%, followed by
Samsung 12.7 118 Motorola  with  21.1%. And
ouy Felowson 62 14 Samsung was the third (11.8%)
L.G. 6.7 6.3
BenQ Mobile 4.9 24
Others 19.2 16.2
TOTAL 100.0 100.0
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[ACADEMIC WRITING TASK 1 &% 03]

ojo|d X

HIE 2N g

&S SlCH(verb) 5t stCh(verb)
Increase Soar Decrease Plunge
Climb Skyrocket Drop Plummet
Go up Leap Decline Sink
Escalate Jump Diminish Fall
Surge Rise Dip Reduce

o7t IS Ha7 YA E

Level (out / off)

Remain + E&A}

Oscillate (verb)

Erratic (adjective)

Plateau (noun)

Stabilize (verb)

Volatile (adjective)

Fitful (adjective)

leapfrog

overtake

falter

slump

Uplift (noun)

Upsurge (noun)

Tumble (noun / verb)

Nosedive (noun / verb)

Upward (adjective)

Ascending (adjective)

Downward (adjective)

Descending (adjective)

50| HES LIEPY Uj(adverb)
Exponentially Markedly Rapidly Noticeably
Dramatically Remarkably Swiftly Fitfully
Substantially Slightly Quickly Erratically
Significantly Fractionally Suddenly Slowly
Considerably Minimally Gradually Steadily
HuE 2M g
i =23 =T Ed
Double (2H}f) Twofold (24}f) A half (1/2) Three quarters (3/4)
Triple / Treble (3HH) Threefold (38H) A quarter (1/4) Two thirds (2/3)
Quadruple (44f) Fourfold (4HY) A third (1/3) One out of ten people
Quintuple (5Hf) Fivefold (SHY) A fifth (1/5) - 10 & 19
a9 BdE
7|1ZtS LtERE of SHHIE M g of

Over a 20-year period

2019| 7|7ke| HH

When it comes to~,

With regard to~,

For the former half of year | ™Et7| S0t Turning to~, In regard to~,

Towards 2015 201549 20 To turn to~, As regards~,

Across the period given Z=O{Tl 7|72tof 2N Considering~, As far as ~ is concerned,
For the first 4 years XX 44 S0t Regarding~, In terms of~,

For the subsequent years O Che =3zt As to~, As for~,

ol m =T

Turning to the consumption of fish, in 1990, it stood at only 300 grams per person per week, but for the

subsequent 7 years, it erratically increased reaching a high of about 900 grams. However, from that time onwards,

the average amount consumed dropped remarkably with several dips in 1999 and 2002; finally, only a fifth that

of meat was consumed at approximately 120 grams in 2010. In addition, it is also noteworthy that it was double

that of pork and quadruple that of chicken in terms of their average consumption.
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STUDENTS' COMMON MISTAKES

1. The number of female workers was decreased considerably in 1997.

2. The rate of smoking was decreasing slightly for the first few months.

3. Baseball dropped significantly to 23% towards 1996.

4. The percentage of subway saw a marked rise among the British commuters in 1978.

5. There was a substantially increased in the rate of smoking in 1986.

6. Korea and France both witnessed a noticeable increase to respectively 56% and 62% in 2010.
7. Football accounted for the first place in the popularity among Americans in 1999.

8. Almost people were in agreement with the range of activities with 89% in 2001.

9. Considering the monthly income of Samsung skyrocketed to a peak of $2 million in 2009.
10. In overall, all the countries given in the chart went through a great change over the period.
11. The amount of people declined steeply for the subsequent years to a low of 300 in 1993.
12. The consumption of chocolate in Brazil was as twice greater as that of Switzerland in 1992.
13. The figure for females dropped two times in the late 1980s to a bottom of 340 in 1990.
14. The market share of Apple accounted for a half percentage, compared to 40 percentage for Samsung




